QL. %Eﬁma? a;amﬁ ‘Tﬂ!ﬁw 3 % it foh amed (A 5 S
? R W%%Sﬁmﬁtﬁm.tﬁ. Wﬁ‘@aﬂ(aﬂwﬂm% |
150 913} § o
Wy i.s Public p rivate Partnership (PPP) required in in
Xamine the role

frastr}lctura] PTO;Ects 7
x of PPP model in the redevelopment of Railway Stationg ;-
< India, (Answer in 150 words) e

Q2. wmm%mﬁmmmé?m.ﬁ.m%ﬁ
SR 3 fora foretar st 3 e 1 ook i | (150 75 3 iy

)
Is inclusive growth possible under market economy ? State the significanc, 2
financial inclusion in achieving economic growth in India.

10

(Answer in 150 Words) 1

Q3. WA # wrewf faawr wreh (f.2 ) 1 599 g ¥ 2 @ g
STElt T IeET s S w2 o (150 9rs3i # I difr)
~~ What are the major challenges of Public Distribution

System (PDS) in Indig 9
How can it be made effective and transparent ? (Answ

er in 150 words)

Q4. Wﬁmmm%mmemaﬁmmml

(150 ¥r5i & 3w Ay
/Elaborate the scope and significance of the food processing industry in India.

(Answer in 150 words)
Q5. hﬁmmﬁmwﬁmﬁﬁwﬁﬁﬁwﬁﬁé | 7§
#gﬁﬁﬁw—ﬁqméaﬁzmm%@w-wmmmﬁmé?

(150 w2} # 3w difvm)
pectancy in the country has
challenges in the comm

. led to newer health
unity. What are thoge challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

/The increase in life ex

I A FwE WA T a ;
ﬁa@vﬁ?mmﬁamgﬁ@%ﬁwwv L
_mmm@ﬁmﬁaamg?(lsowﬁmw T,

\ 1 ; ;
Each og.eao; ; l:;‘g: ;]ma:tlll:t V‘\)’tl‘) plant m:ht:nzlétlcliilltﬂose, is deposited on the
0¢ @ yielding carbon dioxige,

T 92, Segeig L T

Processes this cellulose
» Water and othep end products ?

(Ansvyer in 150 words)

et
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(Answer in 150 words)

Q8. WY Iyngry 2 ¥ aragy
- * ¥ B H iy 3 e 3y HUHTRT | 71
SeTewl <t w1t Hif | (150m'ﬁ3maﬁ-rq) S
E : :
xplain the mechanism ang occurrence of cloudburst in the context of th,
O e

Illdla]l Subco"tlnent. DISCUSS tWO recent examples. (AHSWEI n 150 WOldS) 10

3ﬁ'{ . - . . - i -
/mrm. Hm&ﬁ%aﬁawsﬁwavhﬁﬁql (150 ¥z} # 3w Aifw)
Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.
(Answer in 150 words)

10

' Qlo.mﬁmgmgﬁ%ﬁw%?mgmﬁw%%Qﬁném,
eIl 3R SfshaTcH Ygal $t fad=mn $ift | (150 wreg} ® 3w Afw)
What are the maritime security challenges in India ? Discuss the
/organisational, technical and procedural initiatives taken to improve the
10

maritime security. (Answer in 150 words)

Q11. “Tre % fei w1 anfdien fampra om Seareswan § gfy o wwa gam 2 7 3@ B
1 FHETEY | T Hqf ST i st FR N ow S ¥ sk e R
ey Ao Sefe # wEE A | (250 W § I Af)

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will

/
Jead to creation of more jobs without compromising labour productivity.
(Answer in 250 words)

CRNA-X-GST

15
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Q12 WWWﬂm:’Wn )m:{mmaﬂﬁmﬂmﬁwﬁlﬁqﬂn L

Wm;m:mﬁammnwan?ﬁW'ﬁ”

aferd) g I8 T

mqgﬂgﬂ"gﬂl (Z)OSWTHW’ ST

its

1l meet 50 percent of i 4 R i dien £

e thmki:)mjlllw:lh' your answer. How will the shift of subsidies from
us 8

? 5 " ’
Ip achieve the above objective ? Explain. 15
(Answer in 250 words)

energy needs from renewable

energy by 20«
fossil fuels to renew ables he

q
e g ic < AZ
lemﬁfﬁm%ﬁmaﬁxwﬁmﬂmﬁmﬂg@ ST
# 2 (250 vreal § I Q) e ’
What are the main bottlenecks in upstream and downstream process of
Z marketing of agricultural products in India ? (Answer 1n 250 words) 15
€

Q4. Tifra M woneh 0 2 2 WA # B 3k Hiwia el % AU 7@ A vErs @
Tadt 2 2 (250 Ysal § 3T ifore)

’hat is Integrated Farming System ? How is it helpful to small and marginal

; s or in OF ¥ s
farmers in India ? (Answer in 250 W(Fili)tps://t.me/cspzo | nfb
Q15. 25 fegmn, 2021ﬁmwﬁméamﬁaé?ﬁaﬁmm@mﬁw§m% |
398 Tt FH-HH i o favivand & S 30 EE RSl % AN I ¥ i
Fardt 2 2 39 fivm & g o w0 ¥ 2 ae ifa % fow s @ awfd @
gohd & 2 (250 Wi | I diforn)
Launched on 25th December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
- superior to its predecessor Space Telescopes ? What are the key goals of this
mission ? What potential benefits does it hold for the human race ? 15

(Answer in 250 words)

AT foehr 1 SO Rigia #2022 AT R wHE w0 # 2 Fife19 A9 F
fmion 2 st deftr Fmfandt 3w agft s § 0

(250 weai # IR A
What is the basic principle behind vaccine development ? How do vaccines
— work ? What approaches were adopted by the Indian vaccine manufacturers t0
produce COVID-19 vaccines ? (Answer in 250 words)

15



(250 w123 % 3y &)

al wa :
the contro] Iming and ment:
n 3
/ global wa n.leaS_UI'ES to bring dovtlon 1ts effects on the g} bal o
TMing, in the ligh » the level of greenhfu:eal climate. Explain
gases which cause

t of the K
2 Yoto Protoco]. 1
Q18. yrg 3 T T & o » 1997. (Answer in 250 Words e

bating the hazard ? 15
(Answer in 250 words)

Q19. | Fram F fyfiy
a =17 ? i i
3 amawé.mgmﬁaﬁmﬁmﬁM@mm
FTR | (250 =3 3o Aifm) o
Wh i
Chaﬁznare t%le different elements of cyber security ? Keeping in view the
/ ; ?ues In cyber security, examine the extent to which India has
uccessfully developed a comprehensive National Cyber Security Strategy. 15
(Answer in 250 words)

Q20. m@mﬁa,aﬁmaﬁ(mw%ﬁ@mmgmw
¥ w9 1§ gehe 21 & | 39 T # WA g el b =t i 3 FeeEE % w@
¥ figed i sgeadia wrifa F gemE §i | (250 weal # IeR &)

al, economic and developmental issue manifesting as a
ss the emerging issues

e of Naxalism. 15
(Answer in 250 words)

Naxalism is a soci
violent internal security threat. In this context, discu

and suggest a multilayered strategy to tackle the menac




